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Secondary National Strategy | Assessing pupils’
progress in mathematics at Key Stage 3

Using 1-2-5-10 sheet 1

Level 3

Use the 1-2-5-10 tables to work out the answers.

16 x 13 13 x 16
lots of 13 lots of 16
1 13 16
2 26 2 32
5 65 5 80
10 130 10 160
130 + 65 +13 z
17 x 14 17 x 14
lots of 14 lots of 17
1 W 17
2 23 2 34U
5 70 5 S5
10 140 10 \70
140 + 70+
2_LL|_
32 x 11 16 x 400
lots of ...... lots of ......
1 1
2 2
5 5
10 10
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Using 1-2-5-10 sheet 1

Level 4

Use the 1-2-5-10 tables to work out the answers.

16 x 13
lots of 13
1 13
2 26
5 65
10 130

130 ¥ bS 113=20%

13 x 16
lots of 16
1 16
2 32
5 80
10 160

J60+ 3L+ 16 =203

1O +IO+I0 +22=15L

17 x 14 17 x 14
lots of 14 lots of 17
1 Kt 1 8]
2 2% 2 24
5 o) 5 BdS
10 140 10 170
KO + 70+28=238 | 70+31 17 172243
32 x 11 16 x 400
lots of .).).. lots of ......
1 11 1
2 22 2
5 S§ 5
10 HO 10

Secondary National Strategy | Assessing pupils’
progress in mathematics at Key Stage 3

Using 1-2-5-10 sheet 2

Level 3

Use the 1-2-5-10 tables to work out the answers.

16 x 13 13 x 16
lots of 13 lots of 16
1 ——13 1 A —
2 ——26 2 — 32 —
5 - —65 5 — S0 —
10 —130 10 /60—
17 x 14 32 x 11
lots of /4. lots of .Z..
1 — 4 — 1 —/—
2 —25 2 — 22 —
5 —55— 5 — s5—
10 —Sho — 10 |—0 —
16 x 400 16% of 400
lots of %20, /6 % of 400
1 — 400— 1% —A00—
2 —Soco— 2%
S —-2000— 5%
10 —4L000— 10%
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Using 1-2-5-10 sheet 2
Level 4

Using 1-2-5-10 sheet 2
Level 5

Use the 1-2-5-10 tables to work out the answers. Use the 1-2-5-10 tables to work out the answers.

16 x 13 13 x 16 16 x 13 13 x 16
lots of 13 lots of 16 lots of 13 lots of 16
1 13 1 16 160 1 13 \é
2 26 2 22 32 2 26 2 36
130 -5 65 5 S0 N6 5 65 5 20
5 10 130 10 160 2083 10 130 10 160
- ]y = _
IZ E 130+65+13 =208 160432+ 16 =208 13 65+ 13 |60 T 36+ 6 =
oRY RN
17 x 14 32 x 11 "l'g 17 x 14 32 x 11
lots of .14, lots of .LV.. o lots of | .. lots of .1.1..
1 14 1 li L 1 \4 1 I
, 2 28 2 22 35, 2 23 2 A2
%O% 5 70 5 55 5 70 5 55
10 140 10 \\o 10 [Lyo 10 | ] o
1129 o +0=
6 140+ 70428 = 216 No+110+H10+22=352, (o + Fo 36~ [lo 4llo 1o 33"
X33 20
16 x 400 16% of 400 16 x 400 16% of 400
lots of 4% of 400 lots of 40- | o£S of 400
L\"gog 1 oo 1% 1 oo 1% Q‘WZ
200 2 300 2% 2 g 00 2% Besh
400 5 2000 5% 5 2000 5% Ao b
Eh00 10 4000 10% 10 Lyoo 10% (o*e
KO0+ 2000+ 400 =400 Ly 000 4 Sooo 1 bpo= Lo +9 + &=
6 oo 5 Rk
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Using 1-2-5-10 sheet 2
Level 5

Use the 1-2-5-10 tables to work out the answers.

16 x 13 =MLY 13 x 16 = 5¢ 09
lots of 13 lots of 16
L6 1 13 ' a 1 1€
2 26 | — 2 32
W&‘g. 5 65 KT e " 5 80}9‘86/
10 130 ™~ 10 \ 60O~
17 x 14 =192 32x11235Q
lots of 1 &. lots of .93
7 14 S il 6317*-
~ 2 29 2 + s )3
B N 70 ‘;X)S‘Q ’( 5 \60\§€> 52
—= 10 1 4O ~ 10 3o
16x400:64—oo 16% of 400 =4£¢/-
lots of 0.0 of 400
L1 400 1% g
2 803}6400 2% s M
‘6{\ 5 o0 7 5% 2o 7 +
r 10 [ 5000’ 10% 3o -
Co/ =00
25/ =100

Secondary National Strategy | Assessing pupils’

progress in mathematics at Key Stage 3
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Using 1-2-5-10 sheet 3
Level 5

Use the 1-2-5-10 tables to work out the answers.

17x14=23% 32x11 =357
lots of .14, lots of 3.2
1 V4 Vi © 32
VAN 2% | > m
A O) 10 5 160
VI @ [ O v 320
| O
<233 25 2
16 x 400 =30CO 16% of 400 = 6490
lots o3RO of 400
J_©® a0 VD) 0w
2 %,QC) : 2% <Y
v, (B 1200 Vv 20
v 400 Vi » | 40
40Q T
+ \280 + 20
40
3000 = /s
14% of 30 =L} . 1 27.5% of 92=214. 4O
/ 67) of 3Q of A
» | 0.3 ‘2l (B |0.92] =0. L6
AN O A oy Toaiy o
V@ 1.5 [Ty
V| G | 3.0 0w |9.2L
— 06
¥ C\L.sé E%&L:L
3.0 ’
_4-3 a: F
4.6 24 4O
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Using 1-2-5-10 sheet 3 Using 1-2-5-10 sheet 3

Level 5 Level 6
Use the 1-2-5-10 tables to work out the answers. Use the 1-2-5-10 tables to work out the answers.
17x14=238 32x11=35"20 17 x 14 = 233 32x11= 3572
lots of .\ lots of 3%. lots of .}7.. lots of .3%.
% 1 39 1 17 1 32 v
2 2% Py 2 34 |VY 2 Ga
5 FO L 1 5 &5 / 5 |60
10 I 40 10 320 10 Mo 10 320| v
20 34 ¢
'3 °3%2 S4v 52 +
28 . . 235 2 \70 320
¥ 238 252
16 x 400 =6L4-00 16% of 400=4 4 16 x 400 = (oo 16% of 400= 64-
lots of Yo9. of 400 lots of 4%e. of 400
1 4oO 1% 4 1 4oV 1% 4 V
L) &5 2 Roo 2% Po)
5 2000 5% 20 5 2000V 5% 20|V
10 4-c60 10% 40 10 brooo| </ 10% Lo /
*r
3[5%3 L{g 1@8%*' 7_L0H1:—
Yoo + 4o00 4o
6400 6 4+ 6400 64

14% of 30 =09 27.5% of 92 =1.5-40O 14% of 30 = 4-2 27.5% 0f 92 =25-3¢

of 39.. of 4. of ...... of ......

v 1% 0-3 +-1% 0.97% 1% 03 1% o092 vV
Y 2% 1.8 & 2% 06 V/ 2% -84V
5% 1.5 5% L-70 5% -5 5% L.¢ |V
10% ) | sl 10% q-Z 10% 3 |/ 10% 9.2 |/

1.5 Y. 70 1494 0.6+ O.464
3 q.20 L0 40 g.ef L\FZIE,:
S5z 29,020 25. go > "
&35 TE9 [ery ‘7_&57‘%%
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Year 8

Number

LESSON 2: Percentages!

Secondary National Strategy | Assessing pupils’ 7 © Crown copyright 2009
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What’s missing? sheet 1 (1st part)

Level 4

Fill in the missing numbers and percentages.

50% is 60

100% is .10,

The number is laO

20% is 3.

1.

Fill in the missing numbers and percentages.

50% is 60

The number is \’LQ

200% is 240

40 %isas

Secondary National Strategy | Assessing pupils’
progress in mathematics at Key Stage 3

What’s missing? sheet 1 (2nd part)
Level 4
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What’s missing? sheet 1 (2nd part)
Level 5

2009, LOV0 (s _Z7-2
12 |44
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What’s missing? sheet 2 (1st part) What’s missing? sheet 2 (1st part)
Level 5 Level 6

50% of it is 40 50% of it is 40

200% of it is 30 the numberis .....! ) S 200% of it is 30

the number is ?_O

the number is 21"2__

40% of it is 28 40% of it is 28

N N N Y

}—
J—
2% ortiss | the rumbers . 10
}—
}—

N N N N

20% of itis 8 J—> the number is L"O

150% of it is 36 150% of it is 36

25% of it |sl5

— J J
MOwottisso | ) )
motits. 0.« tommomriiso ) mosorivs JOD. { tonumberisiso |

— J )
— J )

the number is 52

)
qjﬁ 25% of it is I% <—[ the number is 52
QO% of it is 40 <—[ the number is 200

the number is 200

the number is 44

,q%% ofitis 77 4—[ the number is 44

90% of it is O'Oq the number is 0.1

90% of it is Ooq <—[ the number is 0.1

Secondary National Strategy | Assessing pupils’ 10 © Crown copyright 2009
progress in mathematics at Key Stage 3 00588-2009PDF-EN-18



What’s missing? sheet 2 (2nd part)
Level 5

The number s 28— 507,

S 19
The .
M s s
The rumby 5 25 150 15 52
\—/) OO/ s 3&

The nmber 75 38— 2007 < 70

The rumper s 38 >0y.3 g

The  nymber is OF —>207 is 4 6

Secondary National Strategy | Assessing pupils’
progress in mathematics at Key Stage 3

What’s missing? sheet 2 (2nd part)

Level 6

Q5o 57

11
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Doing and undoing
Level 5

Look at this diagram.

50% of 160 is 80

200% of 80 is 160

—
o >

Does finding 200% of a number always ‘undo’ finding 50% of a number? \/QS
How do you know?
Hint: you may find it helpful to write 50% as a fraction.

Because the nuMmblr on the Lest
1S alway S dovble the number on
the right anct the n T on
the right 45 hatp the numb e~

on the Aspt -

How do you ‘undo’ finding 25% of a ngmber? ...... or20%7? ...... or 3315%?
25 7. 207/
T . 33 L
Find 507 Find 1007, and _zi
C)and (:lg/\ Lhapn diviote
wew
tma“ the ans by

mnswer [

Each of the percentages used so far can be written as a fraction with a numerator of 1

How do you undo percentages that cannot be written as a fraction with
a numerator of 1?

For example: 80%, 30%, 66%%, 150% ...... and so on.

Secondary National Strategy | Assessing pupils’
progress in mathematics at Key Stage 3

Doing and undoing
Level 6

Look at this diagram.

50% of 160 is 80

200% of 80 is 160

Does finding 200% of a number always ‘undo’ finding 50% of a number? Yes

How do you know? becawwse 54 dividas ba 2 and 200% Ml tF"fé
Hint: you may find it helpful to write 50% as a fraction. 5,3 2

5¢/. 5
2.50 VL5
\ 2007/
How do you ‘undo’ finding 25% of a number? ...... or20%7? ...... or 33%%?
5% 20%
2600 —L2 g 200 —— 4o

N4

Each of the percentages used so far can be written as a fraction with a numerator of 1

How do you undo percentages that cannot be written as a fraction with
a numerator of 1?

For example: 80%, 30%, 66%%, 150% ...... and so on. %
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